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24 The three points 4, B and C lie on the circumference

Fal

of a circle centre 0. Angle 40Cis 84°.

Find each of these angles. Give a reason for your answer.
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14 Four points 4, B, C and D lie on the circumference
of the circle centre 0.
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The tangent TP touches the circle at C,

DCP=

51° and DAB = 115",

Find each of the following angles.
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15 The three points 4, B and C lie on the circumference of a circle centre 0.
The tangent RBT touches the circle at B, ABR = 63° and ACO = 34°.

Find each of the following angles, giving reasons for your answers.
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